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Insteuction for Question Nos, 21 o 25,

Read the following passage carefully and amywer the
questions that follow.

Travel, in the ypunger sort, is a part of education; in
the efder. a pan of expenence. He thattmvelleth into 3
country, bcm he Faih some entrance into mclnns.uusz:;
goeth to school; and nof 10 travel. That young men trave
under some tutor or grave servant, | ulﬁéﬁﬂﬁmm
he be such a one that hath the language. 5id hath been
in the country before; whereby he may be

them what things are worthy to be seeain the country,
where they go. what ascquaintances they arc to segk,
what exercises or discipling the place vetdcih, for else
young mea.shall go hooded and look ubroad linle. [Lis s
strange thing. (Ralinsea voyages, where there is nothing
to be seen but sky and sea. men should make diarics:
but in land travel, whercin"so much 18 to be ohserval,
for the most part they omit it as if chance were Pitter
to be registered than observation: let diaries, therefore,
be brought in use, The things 1o be seen and observed
are, the counts of princes. especially when they give
Audience to ambassadors: the counts of justice, while
they sit and hear causes.

21. ‘Wha tells abour the Ihil’}g& 10 be seen in the
country onc s mmvelimg ?
ta) voung men &b} elder people
(c) lutor iy stoanpes

22 What is NOT impocant fie ravelling in o country
(a) knowledoe of the languase of that couniry

th) diary
(e} company of 4 persod who dlready knows

the place
(d) company of the family members
23, The grave servanl accompanying the traveller
must have
{a) already visited the country of the Iravel
(b} acquainiance with repuled persons
tc)  undertaken scu voyages
(d) knowledge of keeping diarics
24.  One should visit the couns of princes when the
princes are
(a) dinning with ambassadors
(b) Iisn:niitg to ambassudors
(¢} instructing the ambassadors
(d) rtalking ro ambussadors
25.  Who learns from truvelling ?
(a) old persons (b} tulor
(€) young men (d) grave servant
26.  Choose the correct pant of speech/word cluss of the
word “interesting” in the following sentence.
This hook is interesting.
i) auxiliary (b) adverb
(c) adjective (d) noun

27.

28,

31,

il

34,

35,

Fill in the blank in the given sentence by

hoosing the comect on. .
f?m . Wulmkﬂa pwinly minutes fast.

(h) down
E:i :Fl (d) back
Which of the following is wrongly spelt ?
(a) Hopelul (b) Truely
fc) Whally idy Awful

Change the following sentence into a simple
L[ T . .

Hi'll‘ic Institution is as bad as it could be.

(@) The Instituie is thoroughly bad.

(b1 The Institute is so bad that we cannot live.

{c) The Institute is oo bad to say anything.

(d) The Institute is notonly bad but also good.

Choose the correct meaning of the Phrase
“Zero hour’”

ta) 120 clock at night ) )

fh) The hour when an operation begins

(c) The hour when the sun rises.

idi The hour when the sun sets.

Cuppect the following expression.

Both hic s well as his son were present.

tal  Both, he and his son, was resent.

{by Both of them he and his son wore
Er:nem, )

et Buth he and s son were present.

(d) Both he and his son has been present.

Find out the comect indirect narration of the
fallowing dircet speech.
dohn teoked gt the Taj and suid “How
magnificent|”’
(4} Juhn looked at the Taj and 1w0ld that how
magnificent it is
{b) John looked at the Taj and exclaimed with
surprise that it was very magmificent,
(el John looked at the Taj and asked that how
magnihicent,
(i None of the sbove
Choose the correct option
This Pen is moch than thar
(@) cheaper {b) more cheaper
(cy the cﬁ-apcr {d) chv.-apcslﬂpt
Select the word as an uppropriate meaning for
the given word “Vandal* from the following.
(a) One who destroys works of art.
(b} One who creates works of an.
€} One who does not mix freely with others.
(d) One who is present everywhere.
Change the given sentence into passive voice.
Evervone loves him
() He s loved by all.
(b) He loves evervone.
() He was loved by everyone.
d) Heis loved by everyone.
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38,

39,

a0,

4]

43.

How many numbers from e
by 7 but NOT by 3 7 L1 1o 50 are divisible
(a) 2 by 4

(€) 3 (@ 6

A s richer than B, Cisrichert isni
than C, E is richest than all, er; o i?..f.‘.f.,"f;
sitin the above degree of nichest, who will have
the contral position 7

(@ A ihy B

(€} D d) C
In a Zoo, there are rabbits and pigeons, |
are counted there are 200 in uljjlghnd if |£§:ﬁ

counted there are 580 in all. How man igeons
are there in the Zoo ? e

(a) 90
() 121

(b} 110
(d) 130

In which of the following decision making style
low toleranee for ambiguity is found 7 '
{a) Analytical style (b) Conceplual style
ic) Directive siyle  (d) None of the above

According 10 ‘communication as interaction”
perspective. feedback 15

(a} " mever inteational.

ib) always inlentional.

ic) scldom useful.

id) sometimes unintenional,

In case of complex problems group performance
is higher in

(2) Centralized network

(b) Restricled network

(¢} Problem oriented network

(d) Decentralized network

A sum of T 12,000 deposited at compound
interest becomes double after 5 years. Affter
20 years, it will become

(a) T96.000 (by T 1,20.000

(¢} T 1,24.000 (d) T 1.92.000
Choose the odd one out.

(a) BD6 (b) FH 14

(c) IL22 (d) NP3l

What iire the barmiers to effective commumicanon 7

(a) Moralising. being judgemental and
comments of consolation

(b) Dialogue, summary and self review

(e) Use of simple words, cool reaction and

defensive altitude

Personal statcments, cye contact and
simple narration

(d)

a7

38

40

41.

43.
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45,

A

37

44,

al 1

A group elTon of generating ultemotive ideas that
can help a manager solve a problem is called

(ah The Delpht techmgue

th)  Out of the box thinking

() The naminal group technigue
(d)  Brainstorming

Consder the stalement
Do Scientists believe in relignon
Lo Yes, becouse seience, o profession,
does not come anthe way of Taith
I No. because reason and taith do not 2o
topether
Cerles
tar Oniy | thi Cinly 1
i Boh | oand 1 ddy Eather 1are 1
I ROSE sa doded s 0821 0H AT B cond el s
73456and PRECH s coded as 90143, what will
be the code tor SEARCH 2
(a) TI6T 1 (b 211761
(c) 264173 (20173

Which of thedollowrre does NOT clurctene

gripevine 7

() There is frecdom e mosie in any Jdig Cion

thi hos likely to satisty grovs member. o0
neeids,

ey Iis controlled by management

() Tees largely used to servethe sell intereses
ol people m it

The comtext of fuce-to-fave commumeation is

fa) Archetypes

(h)  Synchronous

i) Asynchronous

(d) Both synchronous and asynchronous

Criven that

A is the Brother of B
C is the Father of A

D is the Brother ol E
E is the Daughter of B
Then, the uncle of D is

a) A (h)y B
{c) C idy E

40,

47

45,
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51.

33

56.

57.

38.

| January 1995 was Sunday. What day it
on 1 January 1996 ? R

{a) Sunday
tc) Wednesday

(b} Monday
(d) Sawrday

Which of the following statement is NOT comect 7
(a} All men are mortal.

{b) Some elephants have trunk.

(e) Noman is perfect.

(d) All roses are red.

Choose the number which is different from others.
{a) 27 (b} 64
(¢) 125 (d) 144

Cansider the following siatemenis regarding
major function/functions of communication
within 4 group or oTganization.

1. Itacis of control member behavious,
It fosters motivation,
It provides emotional ¢xpression of
feclings.

4. It facilitates decision making,
Select the comect answer using the codes given helow ;
(Codes :
{a) 3alone
je) 2and 3

2,
3

(b) 2.3 and 4
(d} 1.2,3and 4

Il'in 0 cerain eode COMPUTER is writlen a5
BNLOTSDQ. then which of the following code
would he written for SOFTWARE ?

{a) RNESVBQD {b} RNESABQD

{c) RNESABCD (d) RNESVZQD

Select the one which is different From the other

three.
fa) 398 (b) 579
{c) BAS (d) 696

Another name for inlerpersonal communication is
(a) Mass communication

(b) Dyadic communrication

{¢) Triadic communication

{d) Permissive communication

In interpersonal communication the functions
of source-recejyer are performed by

(a) Otherindividual (b) Each individual
(c) Third party (d) Neutral party

51

52,

33,

34,

23

56.

57

58.
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59 A mother is 4 times ns old os her daughier und

6l.

62,

63.

O

the father is 5 times as old as his daughter. The
sum of mother's and father's nge is 135 years.
What is the age of daughier 7

(e} 10 years (b) 13 years

(c) 20 years (dy 25 years

Which term is used for communication throu ch
calours ?

{a) chromatic

(b)  monochromic schedule

(€} polychromic schedule

(d) chronemics

An individual's ab bty 1o communicate
effeciively with others js calted

(2)  Interpersonal reframing

(h) Interpersonal dualism

(€} Tnterpersanal competence

(d) Interpersonal comfon
When you become “other oriented”", you

{a) consider needs, motives, desires of oihers
while mainining your own integrity.

(b) encourape others 1o give vou direction

{c) take a submissive pusition in your
relationship with olliers.

(d) assume that others dre alw avs right

Raman runs faster than Mohan, but not as fusi
as Kareem. Kareem runs faster than Suman, but
not as last as Abhinav, Who runs [ustest ?

fa) Raman

thy Maohan snd Fareem

fe) Ablinay

idl Suman
An overriding element of consideration in all
interpersanal communicaion is

{a) Flexibiliny thy Adbstracton

(c) Displacement  (dy Context

Forany two sets A and B, A — (A - Biequals (o
(@) AnB (thh A-B

(c) B () A_B

Which one of the following may be harmful in
terms of effective decision-making hy the group
members ?

(a) Extreme cohesiveness

(b) Commitment for the goal

(¢) Honesty and credibility

(d) Effective training and experience

59,

B,

Gl

62,

63,

frl.,

63.
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The difference of median and mode of the
following data :

25. 33, 72, 65, 29, 60, 30, 54, 32, 53, 42,
52. 42, 51. 42, 48, 45, 47, 46, 1} is

(@) 35 (b) 4

(c) 2.5 (d) 3

In- which century February will have 29 days
from the following ?

(a) 2213 (b} 23N

(c) 2215 (dy 2517

If the cost price of 10 shiris is equal to the selling
ce of 08 shirts, then which of the following

15 true for the transaction 7 -

{a) Profit of 25% (b1 Loss of 254

(c) Profil of 20% (d) 1.ossof 200

Choose the odd pair.

(a) Bonle - Wine I Ball - Bt

(el Cap - lea (db Pucher — Water

Each of the sides of a wiangle is 4 cm less
than the sum of its other rwo sides. Areaof the
tnangle (im cmi-) s

3
242

The first step in decision making is o
{a) establish priofnties

{(h) estahlish specitic goals

{¢1 identify and define the problem
(d)  determine courses ol action

(1]
idh

13

42

i)

{cl

Two numbers are such that their sum, difference
and product are in the ratio 5:1:185. The di flerence
of their squares is
fa) 36
() 42

thy 43
(dy 34

If x — 2 is a factor of polynamial 1 +4x7 = 3x ~ 18,
then its other factors are

(@) x+2.x+3 (h) x-3. x+1

() x+3,x+3 (d) x+ L x+2

That new student says that | am his favounie
professor and he must be telling the truth, because
no student would lie to his favourite professor.

Identify the fallacy involved in the passage.
(a) Complex question  (b) Accident
(c) Petitio principii (d) False cause

67.
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6o,
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frfafaa el
25, 33, 72, G5, 29, 60, 30, 54, 32, 53, 42
52, 42,51 42 48, 45, 47, 46, 33 wrAfeaw

A1 EETH T IR

(a) 3.5 (b) 4

(c} 2.5 (d) 3

fyferfian it & fren yered 1 wah d 20 A d 7
fa) 2213 (b) 2300

(€) 2215 (d) 2517

Az 10 w010 = 7 e 08 i ¥ R e &
e A Aeffag e Fam T’

) 25% T (hy 25% FEa
(¢) 20% % = (d) 20% F1 TR
famu 7w 1 FAT 1

(a) dm -gfm (b TR - el
i) F1 - dM@ (d) wTE - g

e g £ A e 3R 3 A g A
e 5 e 8 4 8.4 Fa R | Bge e

(A In)#

(w242 by 43
€y 22 () a2
AT = ) GEET T R

() SputEERATe #) wfm
by FafEre qem 1 wimE F=E
(er FRE 1 T aen 9fafiE e
(dy AR = Feifa w=n

71 \reyTd 36 WHR § & 39 A, W wE e
S:1: 18 F VT A R | 3 T AR

fa) b (b) 45

¢y 42 (d) 54

afr AgR o+ dxT - 3x - |8 AR X - 2
2, mE e #

fa) x+2. x+3 by x=-3x+1

(¢ (dy x+1,x+2

T2 7T Hea & R T su e e € i
3o ATA wav A g e, e F18 o e
AT i ST § ) g T e |

e i Fafea ada @ agentE|

(a) B TH (b) Fhen

(c) TFF (dy Torem =@

X+3 x+3
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76.

T8.

T,
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Kl.

82,

In a test in Mathematics. 20% of the students
oblained “First class™. If the Data are represented
by a Pie-chart, what is the central angle
correspanding to “First class™ 7

(m) 207 {h) 36

(e) 72° dy 1

The otal number of triagngles in the following
fimre

15
13

k2

L

{4)
fe)

(b}
(d)

Which factors inflience the choice of
COMmMUNICAlion partngers.?

(a)
(b)
(e}
{d)

Proximity. utility. loneliness

Uilivy, secrecy, dissonsnce

Secrecy, dissonance. deceprion
Dissimilarity, dissongnce, devignee

The lengrh of a parallelogeantis 17 Cm o s

width i 1] em. One of ils dizgonal messies
26 cm. The length of the other diugonal 1

ihp
el

tal 12 em L can

<) lbem 17 em

Find out the missing number fram the fallowing
strics,

3 5.5.19.7,41.9, 7
(ay 6l

fey 79

7l
'}

ibj
td)

The HCF and LOM of two nusibers are 12 aud
144 respectively. [N one of the amnbers js A6,
the other number is
{up 4

(cy 72

(bt -8
(dy 432

Which ol the following decision making
technique involves siructured riles [of
generating ideas Y

(4) Brainstorming

(b) Delphi technigue

(¢} Nominal group technigue

(d)  Ordinal group technique

&

=11-

76.
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149

i1

nfirs ) 7 whlan ¥, 20% w3 " wam A" g
w B | AR 2w ) v e = (geta) g frelm

forar e 8, At e AR % e Sy
FR

() 207 {b) 36*

fey 72 (d)y 1447

ra 4 é sepfa o e feed P e 7

I2

[6

ib)
()

{ay 15
fck 13
witaw i 51 =7 6 e zm mnfaa
BT B 7

(a1 ‘TTE#W mﬁlﬂh HFATH

Tby 3, e, st

(¢) T, AEEET, e

() ferpm, sraanfzen, fawaq

sk, WAL SR A A (7 A R s TR
<3Ts | ), | 3 v e )y 26 o
P | 28 farvl ) wrrd 2

fed 12 H.HL by 14 #H ot
i Iﬁ'ﬁ_lff. (d) 1744
ﬁﬁ%{ﬁuﬂﬁnﬁwﬁﬁqlmiﬁrﬁml
A T LV S

I | (bt 71

fcl 7Y (d) 00

2 AR 1 CT T 1LOM FOF; |2 37 144
21 af oF dEm 36 %, ) 2ah s

il (b 48

i) iy 432

Pt 1w faen Foty Fafor aFdtE § faand
AN 2 T e g wfen o & 7
Eroinnps

Tl TR deefien

it TR e

A
2

fu}
th)
(c)
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If radius of a circle is increascd in such a wuy
that its circumference inereases by 10%. Arca
of circle will be increased by

(o) 10% (b) 12%

(e} 21% (d) 24

The mental function which does NOT help n
problem solving 15

(a) Hypothesis formulation

(b} Functional fixedness

(¢} Insight

(d) Means-cnd analvsis

The expression 2x* 4+ x*— 2x — | is divisible by
(a) 2x+3 () 2x+1

() 2x-3 (dy 2x-1

Vikas ranks. 18" in a class of 49 students, What
is his rank from the last 7

(a) 19 {b) 3l

(c) 32 dy 33

Statement : Should school education be mude
free in India
Arpuments: I Yes. this is the only way (o
improve the level of litericy.
I1. No,itwilladdwotheulready heavy
burden on the exchequer.
Salect the correct answer from the codes given
below :
(a) Only argument | is strang.
(b) Only argument [1 is strong.
{c) Neither argument | nor 11 is strong.
{(d) Both argument I and 11 are sirong.

Ratan is 40 metre South-West of Pawan. If Lalan
is 40 metre South-East of Pawan, then Lalanis
in which dircction of Ratan 7

(a) West (h) North-East

(¢) South (dy East
Which one does NOT belong to the following group ?
(a) Eyes (b} Ear

(c) Tooth (d) Chin

83

54,

B,

88

89,

o o o P 9 s i 2 6 58
uﬁﬁ:ﬁm%zﬁq&ﬁaﬁtq_ﬁmwmﬁ
ufm =gm 7

(a) 10% by 12%

() 21% (d) 24%

awm—mnmﬁm;rnﬁnf%aﬁmmﬁﬁ
wHiaw AR B g 7

(u) e fEge

(b yeRaiarER e

(c) AL

() wres - Rremm

iR x4 k2 2x — ) T &

(1) 2x+38 by 2x+13@

(¢) 2x-38 (@) 2x-1¥
W@mﬁﬂ?mﬁ |8 w0 TR T
T 3R] FH R

(a) 19 (b) 31

) 32 @@ 33

rom e IR gt e 4 Pl o o afen 1
a1 B, Hiema TR e w a
THTE I P |
N1, anfdE ai wt wed 8 @ el A
a1t it wg san |
(1) A T | W R
(h) e den 1) weel B
(¢) A TE | ATE I EE R
(dy @V T e 1w R
TR, TE 5 40 e fEm-affm A R | gl deE,
T A0 iz 2k - 1 &, @ T, T &
fram 72 ?
(a) fFEm (b) IW-T
(c) elem @

Fpafrfia T A -8 o T 7

(n) I (b) =M
(c) am (@ FH

00. What is the median of the numbers 4.6. 0,93, | 90 et 4.6.0,9.3,-4.8,7.6,2.3,12.7,3.5,8.2,

_48%.7.6.23.12.7,3.5,82,6.1,39,527 6.1.3.9, sofrmerm TR ?
(a) 3.8 (b) 4.9 (m) 3.8 (by 4.9
() 3.7 (d) 6.0 {c) 5.7 (d)y 6.0

A 11
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91.  The essence of decision muking is

(@) Problem solving

(h)  Choosing between alternatives

() Developing

() Monitor ng

alternative course of action

92. The following Pie-chart shows daily hourly

distribution of various activity (in degree) of
student. How much time (in %) does he spend
N game in comparison to slecping

1]
ic) 25

i) iby 20
wh 30
Y3.  The study of lemposil communication is KDown as
ta) Proxemics th) Kinesics

(¢} Paralanguage  (d) Chronemics
94.  Consider the following statements -
There are six villages A, B, C. D, F and F
Fas 1 km 1o the west of D
Bs 1 km to the east of E
A s 2 km 1o the north of E
Cius 1 km 1o the east of A
Dis 1 km to the south of A
Which three villages are in line ?
(4 ACBH b A DE
(¢) C,B,F idy E.B,D

95.  The sum of the three prime numbers is 100, If

one of them exceeds another number by 24, then
one of the other number is

(n) 7 (by 29
(c) 43 (d) 6l

«12

faofa e 1 =0 2

{u) HHED HETHH

M faa:ml%ﬂmm:‘:lﬁfﬂ

'I“ W.;,Wﬁjﬁﬁ%ﬁ?ﬁﬂ

(d) Hﬁ'ﬂﬂ'

Frrferfian aré-aré v faendl ) sfafes fafies

il 0 =zt vy F 92 1 (Feft ) zofr &)
g6 gA R g d e A e o (% 1) a7

91.

9.

(ap 10
&)y 25

(hy 20
(d} 30

93. @ifers ws =1 werms g 2
(a) TR F ww & (b wredfaea & w0 i
(c) WEEw F ey (g Al F ey d

94, ﬁqf%if@ﬂaamﬁmﬁanﬁﬁq:

AB.C.D,L: a1 F@: nig §

DF | fF. . affan i F 2

E% | fEft. qfiip 2

E& 2 fRaft, aemii o 2

AF I FER i

A% | R ofam i p &
ﬁmnﬁﬂ‘s’ﬁmﬁﬁnn’faﬂﬁhﬁi?
a) A, C.B (b) A, D.E
(¢) C,B.F (d) E.B.D

95. 1 IS Hemad @ 4, 100 1 2R 3 | s

L

w1 TE ﬁz4mfﬁaaﬁ.a‘1:nﬁﬁanﬂﬁm3
(@) 7 (b) 29
flﬂ 43 .“j} 6l
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96. The Golden Rule is basic to every system of

97.

98.

0o,

1.

ethics ever devised and everyone accepts it in
some form or other. 1t is, therefore, undeniably
sound moral principle.

It involves the fallacy of

(a)  Argumentum ad Populum

(b)  Argumentum ad Verecundiam
(c) Argumentum ad Misericordiam
(d) Argumemum ad Ignoratiam

Which one of the following is NOT a rule
for estimatings the subiective prabability of
outcomes of any decision ?

(#) Assessing utility

(b) Representativeness

() Availability

(d) Adjustment

Argument

All Indians are religious.
All Painters are religious,
= All painters are Indians.
It involves the fallsey of
Division

Existential
Undistributed middle

Four terms

(a)
(b)
ch
(d)

If in a certain code "DATE" 15 writlen as
‘WZGV". then which of the following code
would be written for ‘COME"

{a) XLNV ihy LXNV
(c) VNXL (d)y XLVN

What X in second figure ?

119 174
17 | 21 X

184

I8

20
2
28

{a)
(b)
ic)

96.

97.

(d)y 29
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e w - < . A B @ wore
i R e v e el 1 e g g T
b | 3%: a8 SEE w0 A e A fa ¥
wuil fafien e &

in) m

(b) WEE®
(c) T
(d) FIEHYEF

ﬁnﬁlﬁaﬂﬁﬁﬂi-mﬁﬁﬂﬂﬁﬂ#wﬁmﬁ
N N— TR R
(a) IwETA F HTFEA

(b fefrerEa

(¢} FgeT=UA

(&) @R

e

g;umzrrﬁilf-il

i Geez mfits &1

-, wft B vt §1

7 Fafea whem B :

{n) fae

(b} HTHF

{c) =M QeI 17

Cl e

P G SRR FE 3 DATE W76V foma
B, & Fr=iferfam % @ fm 18 %1 COME
Fhmftmwigmmt?
(41 XLNV
(¢} WNXL

ib) LXNV
idy XLVN

100, g\tﬁ'ﬁﬁﬁ.‘(ﬂm!?

119 174 184
17 | 21 X | I8 23124
(a) 26
(b} 27
(c) 28
(d) 29
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